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package computecirclearea;

pubklic class ComputeCircleArea {

am args the commanc

public static void main(String([] args)

{
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public class ComputeCircleArea {

* @param args the

public static void main(String[] args) {

radius; <

double area;

ra;i;;s = 30; <

5 A compute area v

area = radius * radius * 3.141596; v
> Syst-:em~;i*—::;rlnt;n—(:;ie—::e: of circle with radius " + radius + " are
}//end of main() method

run

*le area of circle with radius 30.0 are 2827.43¢c4

BUILD SUCCESSFUL (total time: 0 seconds)

" + area):
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pukblic class ComputeCircleArea {

* (@ param args T he command line ar gumentcs
public st B o
4 . run:

._- Enter radius:

d°'j3 The area of circle with radius 30.0 are 2827.43¢64

Scam

System.out.println ("Enter radius:"):;
radius = input.nextDouble():;

area =
System.ouf.println("The area of circle with
}y//end of main method

us
=

- BUILD SUCCESSFUL (tectal time: 8 seconds)

wArCradiussF: "

=
=

e

" 4+ area):;
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public static void main(String[] args) {
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Scanner input = new Scanner (System.in);
double numberl;
double number?;
double number3;
double average:;

run:

Please enter first number:10

System.out.priwse enter second number:1l
numberl = input.nex ease enter third number:12
For these 3 [10.0, 11.0, 12.0] numbers the average are 11.0

System.out.print ("Pl guyrrn syCCESSFUL (total time: 10 seconds)
number2 = input.nextuvuvuuicy);

System.out.print ("Please enter third number:");
number3 = input.nextDouble():

average = (numberl + number2 + number3) / 3;

System.out.println("For these 3 [" + numberl + ", " + number2 +
", " + number3 + "] numbers the average are " + average):;
nd of main() method

w
]
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int1=0;
int j=10;
1=(0%)/2;
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int xX,¥, 2’

System.ocut.println(x):;
z=(x+v)/ (2 * 2);
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nextByte()
nextShort()

nextInt() Scanner input = new Scanner(System.in); A1 e (gl eala o g G T gl
System.out.print(“"Enter a byte value: "); . S e

nextlLong() byte byteValue = input.nextByte(); Al s E)Shehed SUSE s A

nextFloat () A Sl saa dlae | b H\S 6l byte, short, int, long & 5 Jlea

Gl g ldied alael b S o) » float, double g s 2
nextDouble() <

byte -271027 -1 (—128 10 127) 8-bit signed

short =25 10 2'% —1 (—32768 to 32767) 16-bit signed

int —231 10 23! —1 (—2147483648 t0 2147483647) 32-bit signed

long —263 402931 64-bit signed
(i.e., —9223372036854775808 to 9223372036854775807)

float Negative range: —3.4028235E + 38 to —1.4E —45 32-bit IEEE 754

Positive range: 1.4E —45 to 3.4028235E+38
double Negative range: —1.7976931348623157E+308 to —4.9E —324 64-bit IEEE 754
Positive range: 4.9E —324 to 1.7976931348623157E+308



Name Meaning Example Result
+ Addition 34 + 1 35
- Subtraction 340 — 0.1 339
S Multplication 300%30 9000
/ Division 1.0/2.0 0.5
% Remainder 20 % 3 2
++var preincrement Increment var by 1, and use the int j = ++i;
new var value in the statement [ljis 2,118 2
var++ postincrement Increment var by 1, but use the int j = i++;
original var value in the statement //jis 1. 11s 2
——var predecrement Decrement var by 1, and use the int j = ——i;
new var value in the statement /1118 0.11s 0
var—— postdecrement Decrement var by 1, and use the int j = i——;
original var value in the statement //jis 1. 1150

s sl 5l R(2-9-1

oAl Iy ¢85 (sa3e (5l il

Operator

Name
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Equivalent

Addition assignment
Subtraction assignment
Multiplication assignment
Division assignment

Remainder assignment
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public static void main(String[] args) {

daulaa Mﬁmpj (;dﬂlgﬁn;&s@h\ UA&MJA ) Al (2 Sia
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int hours, minutes, seconds, miliseconds;

//Getting input from user (ﬁﬂ "4 OJ‘J 4%3& L’J.A.A

System.out.print ("Please enter total msec's: ");

totalMiliseconds = input.nextInt(); //read an integer from console
miliseconds = totalMiliseconds % 1000; //Computing remained ms

Se( run:

Please enter total msec's: 1257130
* Total 1257130ms means it's been working for 0:20:57 130ms (h:m:s ms)

Se¢
BUILD SUCCESSFUL (tetal time: 3 seconds)

hours = minutes / 60;
minutes = minutes % 60;

System.out.print ("Total " + totalMiliseconds +
"ms means it's been working for ");
System.out.print (hours + ":");
System.out.print (minutes + ":");
System.out.print (seconds + " ");

System. ou,.prlntln(mlllseconds + "m2 (h:m:s ms)\n"):;
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int numberOfYears 34 :

. (Binary) 5° stise ae) (5155 43 Ob 02558 o
double weight = 0.305;

(Octal) cadia slise alae | glaiy) )2 o580 o

2 (Hex)16 sl dlae) glail Ox 29 @) o
System.out.printin(0B1111);

System.out.printin(07777) ;
System.out.printin(0XFFFF) ;

25 1455 123 aiile xS saléinl ynderScore ) W o G dlae) jidn U1 & () 0 axil g3 0 o
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0.2534e+1, 0.52534e+2, 525.34e-1, 5.2534e+0
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19 + 35 - 1
t (5) addition Le) slee Jo) s il sla diglae jo 2igd e (L)) Gl j e ) Wadiglac 4an o
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public static void main(String[] args) {

double farenheit;
double ce run:

Please enter a degree in farenheit: 100

Scannexr B Degree in 100.0 farenheit is equal to 37.77777777777778 celsius
BUILD SUCCESSFUL (total time: 22 seconds)

System.out.print ("Please enter a de

farenheit = input.nextDouble():

‘oA
 —

ee in farenheit: "),

celsius = (5.0 / 9) * (farenheit - 32):

Ll

System.out.println("Degree in " + farenheit + " farenheit is

-.-an) .
— r

U

+ celsius + " cel

{
1]
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public static void main(String[] args) {
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Scanner input = new Scanner (System.in):;

long totalMiliseconds;
long hours, minutes, seconds, miliseconds;
long currentHour, currentMinute, currentSecond;

totalMiliseconds = System.currentTimeMillis():

miliseconds = totalMiliseconds % 1000; //Computing
seconds = totalMiliseconds / 1000; //Computing
run-c

minutes * 441251:18:0 €00ms (h:m:s ms) past £rom UNIX epoch!

seco% d s
Now: 11:18:0

hours =1
minutes = BUILD SUCCESSFUL (total time: 0 seconds)

{1
Ll

System.out.print (hours + ":" + minutes + ":" + seconds + " ");
System.cut.println(miliseconds +

"ms (h:m:s ms) past from UNIX epoch!\n"):
currentSecond = seconds $ 60;
currentMinute = minutes % 60;
currentHour = hours % 24;
System.ocut.println ("GMT Now: " + currentHour + ":" + currentMinute

":" 4+ currentSecond + "\n"):;
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3 4.5 12. 5

%
int float float

Mosn‘obo‘ \)&.’ wﬁdéy)lubu SSlegil O g0 s lgl>

double d = 4.5; Do plxl g gi aolip bawgs Lol po ool 03Y g9 - 2alS g3 5l hawd Slbee @
int i = (int)d; // i becomes 4, but d is still 4.5

&S o (Syntax) g0 slas adsi JLLelS casting cuw 8 5l oz o oolaiul pas &yg0 j0
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public static void main(String|[] args) {
double price, tax, total;
Scanner input = new Scanner (System.in):

amount: ")

m
1!

System.out.print ("Please ent

F runc

lease enter a purchase amount: 87000
ur total payment: 54830.0 Rials. 87000.0 your sale and 7830.0 for taxes

t BUILD SUCCESSFUL (total time: 4 seccnds)
total = price + tax;

total = (int) (total * 100) / 100.0;

~ = 2 - =
r a purchas

System.out.print ("Your total payment: " + total + " Rials. "),
System.out.println(price + " your sale and " +
(int) (tax * 100) / 100.0 + ™ for taxes"):;
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loanAmount * monthlyInterestRate

1
_ (1 + monthlyInterestRate)wmberofYears 12

monthlyPayment =

1

totalPayment = monthlyPayment * numberOfYears * 12
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public static void main(String[] args) {
I int numberOfYears:;
double annuallInterestRate; o
double monthlyInterestRate; 4-‘“‘ (6 dm
doukle monthlyPayment;
double loanAmount;
O double totalPayment; m design (¥ c\l.>)..o

Scanner input = new Scanner (System.in); )
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Please enter number of years as an integer: 7

S?&ase enter your desire leoan amount: 50000000 cSo il e J5 (4
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1 : The monthly payment is €83440.31 albole laud Jaie (5
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monthlyPayment = loanAmount * monthlyInterestRate /
(l -1 / Math.pow (1l + monthlyInterestRate, numberOfYears * 12)):
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totalPayment = monthlyPayment * numberOerars * 12;
System.out.println("The monthly pavment is " +

(int) (monthlyPayment * 100) / 100.0);
System.out.println("The total payment is " +
(int) (totalPayment * 100) / 100.0):
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Scanner input = new Scanner(System.in);
System.out.print("Enter an integer: ");
int vl = input.nextInt();

Scanner input1 = new Scanner (System.in); BAD CODE
System.out.print("Enter a double value: ");
double v2 = 1input1.nextDouble();







